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Chapter 7 PRACTICE TEST

1. Name the polygon by its number of sides. (1 point) H l=gggrl«.‘
Tell whether the polygon is concave or convex.(1 point) CoMcAVE -
Tell whether the polygon is regular or not regular. (1 point) NOT REGULARY

2. Find the measure of cach exterior angle of a regular polygon whose sum of the measures of the interior
angles is 5040°. (4 points)

-2)(150) =504 30 _
g L %

n =30

3. What is the sum of the exterior angles of a regular 15-gon? (2 points)
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4. ABCD is a parallelogram. Find the following: (6 points)

@ .. . .i-gee b. B ~_ HESH
i sx-5=23%+q *hy =10 =5y ?-'(_5)-40
= 2 = 1 2y =10 =35
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5. EFGH is a parallelogram. Find m<E. (3 points) -
e (iox=2) + (3 H1H) =
Tt6x - 27 At AL 12 = RO
e aHx=108
By + 14"} ‘?‘-=?'
g(q}klur
=30
is a thombus. m£SRU = 112°. Find m<TRU. (2 points) e
ﬁ.RSTUlsa;amusm ind m (2 pot — i
L2 -5,



BCD is a rectangle. AD = 15, AC = 25, and DC = 20, Find BD. (2

points)

% - 80 = JHASEA
& Bb=3%
8. ABCD is a rectangle. BD = 12x — 6 and AX = 4x + 5. Find DX. (3 points) 21
A - Q5 =A(4%45)  H(H)45 3
195 -, =84+ 10 =2l
5 Hae = Il
=4
9, RSTQ is a rhombus. Find m£PST. (3 points) iy Ul
By 15 =40 9(15)+3 mLPST = wdd
£3F i 4 5& = ';-5 ';55
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10. In kite JKLM, m2]MN = 25°. Find meNJM. (3 points) me M = g
J 35+40+-é =80
s 5 {10
M 2 K F =b5°
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11. In trapezoid ABCD, find m£A. (3 points) e aad :
o +F6 =180 (i el Qs
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. Find the v

alues of s : ;
ot x and y so that ABCD is an isosceles trapezoid with bases AB and DC. (4 points)

A
L Sy-2 35263 62+5¢4-d =170 x=_ WEF"
2x=%F By =30
%=2A By =140
g2t V= _ Wit
62 3x-25
D =t
13, Find ti:: length of the midsegment XV of trapezoid PQRS, (3 points) -
i N 97 47 A= BEPREPS
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14. XY is the midsegment of trapezoid ABCD. Find AB. (3 points)

4 Q?Mu_.?_% AB = GRS
= =

. q%.+‘¥_sf}‘f'{ﬂ
b — c e

15. Determine whether the following statements are sometimes, always or never true for quadrilaterals.
(1 point each)

a. A rhombus is a kite. a. NEVER

b. If the diagonals of a parallelogram are congruent b. | SOMETIME]!
then the figure is a square.

c. If both pairs of opposite angles are congruent, then the (V%
figure is a thombus. ;

d. A parallelogram is a trapezoid. d _ o Never .




sand meLzZwx = 50%, Find. .. |<4‘ pbl ﬂl‘j)

Bn kite WXYZ movyy = sge

amsXYz

b. msvIw
B +58+y. =150 Jz +50=1%0
b+ '-l.%ll'..). % =130

| = =05°
18 Find each measure, (Afi#6te :

a T |%D-5u - " 57
N —
A M

v e
m<R =_M‘ mes= S MN = 48.5

C] Find the value of n so that PQXY is isosceles. ( 5 XDI n"'b)

Q X Fnt -H nt+F
(602 + 7F
P : i

Q/fifé a two-columti proof. (5 points)
Given: Kite ABCD with AB = AD c A
Prove: AABC = AADC

Statements Reasons




